Subtracting Mixed Numbers
Four-In-A-Row

Choose a coloured pencil. Your partner should choose a different colour.

Choose a square and solve the problem inside. Your partner should check your work. If you are
correct, colour the square with your colour. Then it is your partner’'s turn. The winner is the
first person to colour four in a row!
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75- 5% 75- 35|15~ 15|85 - 75| 5: - 23

1 1 4 1 2 1 3 1 3 1
155-123145-15|935- 835|657~ 63|35~ 35
173-10%| 55 - 53| 77 - 271|103 - 73| 35 - 23
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Subtracting Mixed Numbers
Four-In-A-Row Answers

Choose a coloured pencil. Your partner should choose a different colour.

Choose a square and solve the problem inside. Your partner should check your work. If you are
correct, colour the square with your colour. Then it is your partner’'s turn. The winner is the
first person to colour four in a row!
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177 - 10| 55 - 53| 72 - 271|103 - 73| 35 - 23
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Subtracting Mixed Numbers
Four-In-A-Row

Choose a coloured pencil. Your partner should choose a different colour.

Choose a square and solve the problem inside. Your partner should check your work. If you are
correct, colour the square with your colour. Then it is your partner’'s turn. The winner is the
first person to colour four in a row!

127-97 65- 25|52 - 22| 85 - 75| 55 - 15| 3z - 13
8% - 75| 4% - 45|155 - 43| 85— 43| 25— 23| 95- 63
187- 157 42- 22| 73- 63| 125- 55| 5% - 23| 83- 43
9%- 23| 65- 43| hs- 23| 57- 37|163- 85 75~ 53
75~ 65| 57~ 17| 85~ 34125~ 15| 95~ 74 25~ 15
45- 33 32- 23107~ 47| 65- 43|127 - 43 83~ 43
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Four-In-A-Row Answers

Choose a coloured pencil. Your partner should choose a different colour.

Choose a square and solve the problem inside. Your partner should check your work. If you are
correct, colour the square with your colour. Then it is your partner’'s turn. The winner is the
first person to colour four in a row!
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127-931 65~ 2355, - 27| 85~ 75| 55~ 15| 36 ~ 15
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92- 2% 62- 43| 45— 25| 55- 37|16:- 82| 75- 53
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Lg—- 33 3%- 2%107- 7l 63— 43|127 - 47| 85— 43
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Subtracting Mixed Numbers
Four-In-A-Row

Choose a coloured pencil. Your partner should choose a different colour.

Choose a square and solve the problem inside. Your partner should check your work. If you are
correct, colour the square with your colour. Then it is your partner’s turn. The winner is the
first person to colour four in a row!

102-9 2(165-12 [142- 71| 82- 72 |152- 82 |6=- 12
85- T3 |4z-43|155-65|185- 43(125- 75| 95- 63

S .33 3 2 6 4 2 1 4 3
1712-1512| 453- 2 7 | 75— 6 |129- 475|157~ 237|185~ 33

7 3 6 1 3 2 7 4
192- 22 (163~ 143/155- 95|177- 3 7|165- 85(175- 535
175~ 63 |157- 115|187 - 37|125- 115|193~ 7 5|20 - 13

2 1| 4 3 6 1| 2 1 2 2 4
148 - 138|135- 25|107- 47|163- 43|227- 47|1812-7T12
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Subtracting Mixed Numbers
Four-In-A-Row Answers

Choose a coloured pencil. Your partner should choose a different colour.

Choose a square and solve the problem inside. Your partner should check your work. If you are
correct, colour the square with your colour. Then it is your partner’s turn. The winner is the
first person to colour four in a row!

103- 9 5|165- 12 |145- 75| 8%- 75 |155- 8% |61~ 111
=1§ =[|,§ =7% =1% =7% =51_];l
85- T3 |4z-43|155-65|185- 43(125- 75| 95- 63
- 1 - 2 — 1 - 1 - 2 - 2
=15 |53 =93 =143 |=33 =33
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1713-15T2| 43- 22| 72- 6 |125- 43|153- 232|182~ 32
- — - 2 - 2 - - 1
=22 = 2 =1 =83 =132 |=15;
192- 22 1167- 144155~ 9 5|175- 3 7|163- 82|174- 5 3
- — 3 — 4 - 5 — 1 - 3
_17 -23 -66 -147 -8§ -126
175- 65|157- 117|187 - 37|125- 115|193- 7 5|20z - 135
— 2 — 4 — 1 — 6 — 1 - 2
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145- 135|135 - 23 |107- 47|163- 43|227- 47|18 T3-71
- 1 - 1 - 5 — 1 - - 3
-1§ -11§ -67 -123 -18 -11E
875- 815|162- 11 [227- 187|175- 25|153- 9%|1953-1613
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